Lgm Tenth 2 2051 ' ﬁﬁr,a; -0 QI

X "l‘-‘ﬁﬂ-l W net | Marks =15

WNW %essmn 2017-2019 to 2019-2021)

Four possibie answers A, B, C and D to each question are
given. The choice which you think is correct, fill that
circle in front of that question with Marker or Pen ink in
the answer book. Cutting or filling two or more circles will
resuitinzero mark in that question.

EE] Two square roots of unity are : @
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Two linearfactors of x*-15x + 56 are :
® (x-7)&(x+8) ® (x*+7)&(x-8)

© (x-7)&(x-8) ® (x+7)&(x+8)
Il fAcB, thenAUBisequalto:

® A ® B

© ¢ ™ A-B

K3 Liae segment joining any point of the circle to the
centreis called:
® Radial segment ® Diameter

| © Circumference ® Perimeter
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- ThedomainofR.={(0,2),(2,3).(3,3),(3,4)}is:
® {0,3,4} ® . {2, 3,4}
© {0,2,4} ® {0,2 3}

m If o, B are the roots of x* - X -1= 0, then product of th
- roots 2a and 2pis :

® -2 ® 2
© 4 ©® -4

roots of unity is:

® 1
© 3
3 9 radians=:
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@ 115° ® 30°

© 150° ® 135°




